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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard)

861) 450 — 49

862) 10 —2 =

890 + 620
313 + 968
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Mixed problems (Y3 hard)
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011) 50 — 8§

801) 144 =12

912) 59 x 73

892) 808 + 128

913) 19+9—2

893) 20 — 2+ 11
804) 81 x 53
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Mixed problems (Y3 hard)

941) 8 — 7+ 10

921) 869 + 985

922) 18 — 3

042) 12 — 12+ 14
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930) 16 — 10

051) 531 — 238

931) 24+1—11

052) 315 — 244
053) 80 — 74

932) 55 x 54

033) 28 =7

954) 306 — 18

955) 2 x5
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Mixed problems (Y3 hard)
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Mixed problems (Y3 hard) (Solutions)

887 — 692 = 195
6+ 20 = 26
30+ 51 =81
1I8—13=5
920 + 257 = 1177
04+18—-5=13
10 x 6 = 60

90 — 55 = 35

204 + 725 = 929
11T x11 =121
7TX6=42

512 4+ 237 =749
2—17T—-0=-15

b8 X H2 = 3016
20+ 12—-9=23
20+-4=5
19+1=20

10 x 12 =120
360 + 277 = 637
90 — 47 = 43

21
2
3
4
5
§
7
8
9
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§
7
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9
40
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19+0—-3=16
20 —10=10
8 X 8 =64

12 x 8 = 96
5T+T7=81%
30 —19=11
6—2=4

16 +1+6=23
20—-11=9

11 x 10 =110
10+11 =21
6+6=1
18+5+2=25
2x12=24
56+8=17

49 x 59 = 2891
5—3=2

162 4 486 = 648
2+1=2
49+7=7



Mixed problems (Y3 hard) (Solutions)

60 — 18 = 42 61) 1945 =24
3+1=3 62) 543 — 49 = 494
40 — 6 = 34 63) —13—8—11= —32
121 — 87 = 34 64) 4x5=20

88 +11=38 65) 50 — 26 = 24

23 x 53 = 1219 66) 238 4+ 114 = 352
3+7=61 67) 0—-9—2=-11
20+0+12 = 32 68) 60 x T4 = 4440
80 — 32 =48 69) 94 x 78 = 7332
16—15=1 70) —9+1+11=3
428 + 262 = 690 71) 34+16=19

190 — 189 =1 72) 0x2=0

10 x 5 = 50 73) 11+4+1=16
—16 — 16 — 6 = —38 74) 781+ 612 = 1393
8+0+6=14 75) 12—8+46=10
858 4 792 = 1650 76) 0+1+15=16
506 + 233 = 739 77) 45+10=4%
822 — 43 =779 78) 65+ 815 = 880
30+5=6 79) 8+ 10 =18

858 4 712 = 1570 80) 46 x 8 = 368
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Mixed problems (Y3 hard) (Solutions)

101) 66 x 52 = 3432
102) 32 x 98 = 3136

60 — 19 = 41
50 — 37 =13
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110) =17+ 18+ 11 =12
111) 12+ 18+ 16 = 46

112) 5-0=5
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9+14-10=13

119) 97 x 3 =291

12 x 11 =132
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Mixed problems (Y3 hard) (Solutions)
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155) 660 + 263 = 923
156) 5% 7 =35

135) 3 x 4 =12

=7

136) 12+ 10— 15

157) 2 x 10 =20

—28

137) —14—0— 14

158) 6 x9=54

138) 6+8 =14

=7

159) 1445 — 12

139) 83 x 55 = 4565

140) 43 =4 =10

160) 692 — 210 = 482
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Mixed problems (Y3 hard) (Solutions)

=3

181) 2+ 13 —12

. 2
161) 86 +7=122

182) 48 x 13 = 624
183) 9 x 10 = 90
184) 10 —8 =2

162) 2+ 10+ 14 = 26

163) 2+18—-1=19

164) 15+ 18 — 4 = 29

185) 889 — 612 = 277

165) 957 — 159 = 798
166) 90 x 72 = 6480

167) 17—5= 12

186) 17 — 5+ 20 = 32

187) 20 — 8 = 12

188) 37+4=9%

168) 3+3=1

189) 15 x 37 = 555

169) 6+ 11 =17

190) 13—-13+2=2

191) 16 — 6 = 10

170) 57 x 5 = 285

171) 5184372 = 890
172) 106 +11=9
173) 04+2+1

174) 13 =9

192) 64 x 51 = 3264

193) 11 x 6 = 66
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199) 13+ 11 = 24
200) 13+ 15 = 28

=0

179) 13 — 13
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180) 13 x 57 = 741



Mixed problems (Y3 hard) (Solutions)
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Mixed problems (Y3 hard) (Solutions)
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270) 77+ 11

250) 46 +4 =114

271) 12+1=12

251) 30 —29 =1

272) 48+ 8 =6

252) 10 x 4 =40

273) 11—6=5

253) 94+2—0=11
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276) —18 — 5+ 20

256) 5—4=1

7
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278) 54 x 85 = 4590

277) 139 + 11 = 12
279) 9 x 11 = 99

257) 11 —9 =2

258) 98 +8=127

259) 12+ 13—-10=15

280) 730 4 574 = 1304
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Mixed problems (Y3 hard) (Solutions)

301) 20 x 68 = 1360

302) 8+ 13 =21

281) 853 — b44 = 309

282) 41

=4

9
10

303) 29+ 10 = 2

283) 90 —89 =1

304) 99+ 9 =11

284) 36+4=9

305) 460 + 856 = 1316

306) 14—7="7

285) 8 x 2 =16

286) 9+3=3

307) 20— 17+ 12=15

287) 14419 = 33
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Mixed problems (Y3 hard) (Solutions)
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345) 30 x 16 = 480
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354) 452 + 951 = 1403
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356) 1234 116 = 239

336) 48 =4 = 12
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Mixed problems (Y3 hard) (Solutions)

381) 75 x 64 = 4800

361) 4 x 7=28
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399) 30 x 59 = 1770

400) 4x2=8

379) 10 x 7="70

380) 16 — 14
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Mixed problems (Y3 hard) (Solutions)

—21

421) 0—7— 14

401) 876 — 805 =T1

422) 75+12=6%

402) 44 +4=11

423) 124+ 10+ 15 =37

424) 40+11=3

403) 55 x 28 = 1540
404) 30 — 18 =12

T
11

125) 3 x 9 =27

405) 30 —7=23

426) 772+ 227 = 999

406) 696 — 45 = 651
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132) 848 — 792 = 56
433) 21+7=3

412) 85 x 33 = 2805
413) 91 x 72 = 6552

434) 943 — 713 = 230
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414) 24 + 11

Q0
2
R
—
; n = P I~
— | I I
o) | <
%) N O
+ o
_ - ¥ 4 _
- O A =
S A = TR~ N
~~ I~ —~ ~—~
N © I~ v o o
S - e B~
F = F <
m 0
—
S ™ T RS
O o~ S
Q0
of] Y-S
I .
I o —
D - X I
& 3 —
I [
+ + =+ o % |
[@N —
Mm = O 0 0O
~~ Y~
D © I~ v o o
i | | i i [@\]
< < <f <f < <

36



Mixed problems (Y3 hard) (Solutions)

461) 1+13+0=14

462) 3x3=9

441) 45+9=5

442) 16+4=4

463) 665 + 887 = 1552
464) —15—10 — 19

5
12

443) 101 +-12=8

—44
—-33

444) 4% 3 =12

465) —10 — 11 — 12

445) 9—6=3

166) 13+7 =20

446) 283 + 546 = 829

447) 52+T7=T73

467) 357 — 201 = 156

468) 18+7=25

448) 33 +3=11

469) 6+ 15+ 6 =27
470) 51+5=10%
A71) 50 — 44

449) 96 + 8 = 12

5
11

1

450) 16 + 11

=6

a0

451) 27+5=5

472) 20-9=11

452) 9+11—6=14
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Mixed problems (Y3 hard) (Solutions)

— |

501) 336

481) 689 — 372 = 317

502) 29 x 6 =174

10
11

482) 21+11=1

503) 88 x 37 = 3256

483) 16+2 =18

504) 17+17—19 =15

484) 8+ T7=111

505) 87 + 156 = 243
506) —124+3+5

—48

485) —12 —17—19

—4

486) 341 + 968 = 1309

507) 17413 — 10 = 20

487) 26 x 61 = 1586
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541) 18 4 477 = 495
542) 265 — 181 = 84
543) 72+ 6 =12

7

Mixed problems (Y3 hard) (Solutions)

522) 8+9 =17
523) 163 + 566 = 729

521) 19 — 12
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20+ 18+ 13 =051

17—2=15

)
)

558) 601 4 562 = 1163
559
60

557) 49 x 3 = 147
5

555) 7 x 9= 63
556) 11 x 2 = 22

39

786 — H98 = 188
243 + 44 = 287

259 + 323 = 582
5 x 069 =345

535) 9+1=9
536)
537)
538)
539)
540)



Mixed problems (Y3 hard) (Solutions)

581) 495+ 59 = 554

582) 8 — (0 =8

561) 9 x 9 = 81

562) 50 — 7 =43

583) 691 + 421 = 1112

534) 4 x 6= 24

120 +12=10%

585) 15+6+ 18 =39

701 — 324 = 377
77 x 45 = 3465

586) 53 x 30 = 1590

587) 110+ 11 = 10

588) 9 x 5 = 45

630 + 36 = 666
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599) T7T+8=93

H79) 467 — 187 = 280

600) 1946 — 10 =15

530) 11 x 4 = 44
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Mixed problems (Y3 hard) (Solutions)

418 4 165 = 583
9+8—17=0
60 — 28 = 32
14+1=15
8+3=22

16 —12+12=16
7T—10+20=17
80+8=10

99 +8=123%
228 4+ 574 = 802
18+ 12+ 12 = 42
—11+5+2=—4
11 x 3 =33

64 x 44 = 2816
961 — 943 = 18
T+=T7=1

622 + 563 = 1185
7T+9=82
5x4=20

993 — 124 = 869

10-9=1
12+2=14

14 -3+ 17=28
1+17=18

H48 — 364 = 184
19-2—-4=13
70 —37 =33
285 + 945 = 1230
14+34+8=25
9+ 114+7=27
71 x 74 = 5254
7Tx3=21
916 + 274 = 1190
745 + 130 = 875
A7 x 91 = 4277
88 X 74 = 6512
14+13 =27
11+94+13=33
b+ 7=12
TxX 11 =77



Mixed problems (Y3 hard) (Solutions)

=6

661) 14 — 8

641) 19 —0 =19

662) 496 — 263 = 233

642) 50 +5=10

663) 120 + 10 = 12

2
11

643) 134+ 11 =12
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674) 6 x 6 = 36
675) 5+4

654) 87 +8=101

=9

655) 56 +12=43%
656) 40 < 10

657) 13 — 6

676) 10 + 12 = 22

4
7

677) 934 + 533 = 1467
678) 3—4+3=2

658) 9—3+4 =10

659) 11—0—7=4

679) 7 x 36 = 252

680) 439 — 393 = 46

42

660) 0+ 1+ 12 =13



Mixed problems (Y3 hard) (Solutions)

701) 13—12412=13

702) 16+ 18+0 = 34

681) 10—4=6

682) 114+9+20=40

683) 12—6—6

703) 70 — 26 = 44

=0

1
12

704) 49+ 12 =4

. _fb
684) 41+6=163
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713) 90 — 25 =65

693) 90 —9 =81

=4

714) 3+12—11

715) 6+5=1

694) 50 — 3 =47

— 0

—38

695) —18 — 14 — 6

716) 782 — 658 = 124

717) 4—0=4

696) —7+ 17+ 10 = 20

697) 10 x 9 = 90

718) 6 x 8 = 48

698) 31 x 67 = 2077

719) 10 x 11 =110

699) 502 + 998 = 1500

720) 544 — 361 = 183

43

700) 933 4 579 = 1512



Mixed problems (Y3 hard) (Solutions)

17—0+4+13=30 741) 20—-16=4
17—5+9=21 742) 5 x 11 =55

366 + 164 = 530 743) 6+0+20 = 26
—20+18+15=13 744) 4 x 12 =48
S5+4—-5=4 745) T8 X 8 = 624
0+12=0 746) 952 — 35 =917
14+11 =25 747) 76 X 82 = 6232
5 x 10 = 50 748) 15+13—-12=16

1743 =20 79) 11+156—-2=24
83 X 58 = 4814 750) 15420 =35
774 4 835 = 1609 751

8 X 7=256 752) 538 4423 = 961
10-7=3 753) —17—-14 —-14 = —45
17+ 13 =30 4) 10+3+6=19
24+-6=4 755) 443 + 369 = 812
40 - 27 =13 756) 66 x 100 = 6600
5+3+06=14 D7) 11+-1=11
10+11—-5=16 78) 11+6+0=17
3 x 10 =30 759) 543 + 731 = 1274

)
)
)
)
)
)
)
)
)
)
) 578 — 296 = 282
)
)
)
)
)
)
)
)
)

38 X 36 = 1368 760) 968 + 594 = 1562
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Mixed problems (Y3 hard) (Solutions)

24 +2=12
677 — 90 = 587
. _ 1
12+11=14

242 4+ 122 = 364
768 + 930 = 1698
79 x b3 = 4187
2x7=14

8 x4 =232
0x11=0
164+8—-5=19
294 + 785 = 1079
—10—-0—-12=—-22

6+20+5=31
5—13+11=3
80 —8 =172

941 — 490 = 451
9+20+ 18 =47
682 + 568 = 1250
22+11=2
4x9=36

6 x 10 = 60
18 + 14 = 32
15— 12415 =18
68 x 36 = 2448
16+7=22
19410 — 7 = 22
50 — 30 = 20
686 — 172 = 514
84 +7=12

779 + 313 = 1092
8+2=4
531+ 79 = 610
0+6=0

18 — 16 = 2

783 + 791 = 1574
74 x 26 = 1924
2+8-10=0
26 x 98 = 2548
16 +8 =2

I8+6=24



Mixed problems (Y3 hard) (Solutions)

=3

821) 15— 12

801) 100+9=11%

1
11

822) 45+ 11

802) 71+7=10%
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830) 21 x 15 =315

831) 9 x 7=63

810) 6 x 7 =42

811) 9420+ 13 =42
812) —13+2+4

813) 19— 18=1

—7

oo

1

833) 11 =38

834) 16—-6+0=10

835) 992 — 833 = 159

814) 44 x 92 = 4048

815) 13—7=6

836) 30 — 2 = 28

816) 991 + 854 = 1845

=6

838) 731 — 254 =477

837) 132+ 11 =12
839) 30 — 20 = 10
840) 7417 — 18

15 =104 17 =22
870 + 542 = 1412
459 — 130 = 329

3xT7T=21

)
)
)
)

17
18
819
320

8
8
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=8

861) 450 — 49 = 401
863) 444 — 215 = 229

862) 10 — 2

Mixed problems (Y3 hard) (Solutions)

890 + 620 = 1510
313 + 968 = 1281

1+11=12
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10
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0
3
3

9
2
5]

877) 386 + 85 = 471

876) —17—20—1
878) 20 — 17
880) 65+11=5

873) 4+ 19 =23

874) 10 — 10

875) 30 — 27
879) 49 =9

870) 12+ 8 =20
872) 0+10—8

869) 872 — 531 = 291
871) 19+9

866) 12+ 12 =24
867) 2x2=4
868) 45+ 5

47

5

12

653 + 927 = 1580
17+9-9=17
16+16—-19=13

17+0+4+6 =23
2+20—-10=12

)
)
)
)
)

855) 71 x 24 = 1704
8

853) 15+ 13 =28

850) 5+ 13 =18
851) 65+12=5
852) T+ 15 =22
854) 1+1=2

848) 14 —6+2=10
849) 63+6=103

847
856
857
85

859
360



Mixed problems (Y3 hard) (Solutions)
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Mixed problems (Y3 hard) (Solutions)
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Mixed problems (Y3 hard) (Solutions)

. _ e
61+9=67

981)

961) 88+9=97

13+4=17

082)

962) 1544 =19

1000 — 463 = 537

40 —-7=33

083)

063) 8 x 9 = 72

034)

964) 60 — 27 = 33

085) 5+19 =24

=7

065) 18+ 6 — 17

959 + 298 = 1257

0+11=11

086)

966) 379 — 64 = 315

087)

967) 2+13 =15

572 + 238 = 810

038)

968) 50 — 5 = 45
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